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1. D.  
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2. C.  In 1 days, they eat 7/10 pies (the sum of 1/5 and 1/2).  
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3. A.  The circumference is 36 so 
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4.  D.  Arccos(
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5.  B.   
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6. D changed to A.   Since 1.2 (base3) is  
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 (base 10), and 1.01 (base3) is 
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 (base10) which is

     1.111…, then we choose 1.01101 or 1.01021 (bsae3).   This is either 
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    approx 3.151 vs.  3.138 for comparison, so we choose 1.01021. Choice D.

7.  A.  Divide the dodecagon with 24 central angles, one of which. 
     is shown (Θ) to the right.  Let x be half of the side of the 
     dodecagon. And x=0.5sin(15). So the perimeter is 24x  which is 
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8. C.  Area is 
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     so 
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9.  B. Since the distance around is 30 and the diameter is 10 and 
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10.  C.   In the diagram at the right, 
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11.  C.   3.1414… = 
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  (let x=3.1414…, and 100x=314.1414… and subtract).  we subtract 

     this from 22/7 and get 
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12. C.  
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13. E.  
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14. A. 
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      Solve to get 
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15. C. The graphs meet where  
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      with  radius 1.  The answer is 
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16.  A.   
[image: image65.wmf]mAmB

Ð=Ð

 so 
[image: image66.wmf]32210,

xx

-=+

 x=12, and 
[image: image67.wmf]34

mA

Ð=


      so 
[image: image68.wmf]»

DC

 has measure 68 degrees.   Similarly, y=11 and 
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      two arcs, in length is 
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17.  A.  
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18. C.  We can have C(5, 3) =10 for all flavors of my choices different.  And we can have
      C(5, 2)=10 for repeating a choice. But I can repeat either choice so this doubles. 

      The number of creations are 30.   I listed them all, just to be sure. I will spare you the

       list ( .   

19.  A.  the largest circle has area 
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      is 11/4.

20.  E.  
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      In the second, 
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21.  D.  
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22. D.  
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23.  C.  
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24. B.  
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25.  C.  
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     This makes the diameter of the semicircles 2 and when we add 0.5 to each side we get

     new diameter 3. The outside perimeter is 
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26.  A.  Pilish is the art of writing so each word has length in accordance with the digits of 
     pi.  If you know the first few digits of pi are 3.1415926… then we need a 9-letter, 

    2-letter and 6-letter word.  Since E is not NOTA on this one, the only choice is A.
27.  D.  
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 since the cars are approaching each other at the sum 
      of their rates. So it takes 40/3 hours for them to meet. The fly flies 40/3 – 1/4 = 
      157/12  hours. The distance he flies is  
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28.  B. The pairs of numbers count C(9,2)= 36.  The pairs of relatively prime numbers are:

    2,3;  2,5;  2,7;   2,9;   3,4;    3,5;  3,7;   3,10;    4,5;   4,7;   4,9;   5,6;   5,7;    5,8;    5,9;

    6,7;   7,8;    7,9;    7,10;   8,9;   9,10.   This is 22 pairs. 22/36 = 11/18.  
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30.  D.  
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